NAME: PERIOD: Round 1 NAME: PERIOD: Round 1
A-Graph B-Graph
4 1 Evaluate: Evaluate:
> f=4) = f(=3) =
2 -
E, f(=3) = f(=2) =
-4 _.3 -2 _'1 Y —
1 4 f(=1) = 2 3 4 f=1=
_2 -
-3 1 f@2) = f4) =
_4 .
Zeros: y-intercept: Zeros: y-intercept:
Domain: Range: Domain: Range:
Extrema: Inc/Dec/Constant: Extrema: Inc/Dec/Constant:
Continuity: End Behavior: Continuity: End Behavior:
x> —4y- X —> —0,y >
X =,y = X — 00,y >
Equation: Equation:

f(x)={

S

) LI

fo = =




NAME: PERIOD: Round 1 NAME: PERIOD: Round 1
A-Equation B-Equation
f(x)_{—|x+3|+4,—4Sx<1 f(x)_{—(x+2)2+4,xso
3(x —2)>-3,x>1 3vx—3,x>0
Work for finding zeros is shown. Circle the zeros |y-intercept Work for finding zeros is shown. Circle the zeros and | y-intercept
and cross out any that are restricted from the (show work): cross out any that are restricted from the domain. (show work):
domain. a
2 O=-(x+2)+4 D=2% -3
O=-|x+3]4 %‘_éﬁ‘f;};s Joxa2y=J4 3=3JX
= I
/ \.g : - = =l = |; =
x+5=4 x.{.g:—‘{- \ﬂ-_m z’ \_ﬁ 'l :,{
X =\ X=- t]= X2 x=0 X=-Y
At1=%
Y
xX=3 X =1
Evaluate: Graph: Evaluate: Graph:
5 5
f(—4) = 4 f(=3) = 4
3 3
2 2
f(=3)= 1 f(-2) = 1
f(-1) = ©®4-82-, 1 12345 f(-1) = 5-4-3-2-1,] 1 23435
-2 -2
f2) = -3 f(4) = -3
-4 -£
-5 -5
Domain: Range: Domain: Range:
Extrema: Inc/Dec/Constant: Extrema: Inc/Dec/Constant:
Continuity: End Behavior: Continuity: End Behavior:
x—->—4y-> X > —0,y -
X — 00,y - X — 00,y —




NAME: PERIOD: Round 1 NAME: PERIOD: Round 2
C-Graph D-Graph
4] Evaluate: Evaluate:
31 3
2. f(=3)= ) -4 =
A 14 1
— 0 ——— f(=2) = f(=3)=
“'3'2'\./1234 4-3-2-1[ 1234
2 f2) = f(1) =
3 -2
4] f(3) = -3 f3)=
-4
Zeros: y-intercept: Zeros: y-intercept:
Domain: Range: Domain: Range:
Extrema: Inc/Dec/Constant: Extrema: Inc/Dec/Constant:
Continuity: End Behavior: Continuity: End Behavior:
X > —00,y = x—>—4,y->
x—-3y- x—->4,y->
Equation: Equation:

feo={

Fo) =]




NAME: PERIOD: Round 1 NAME: PERIOD: Round 2
C-Equation D-Equation
—Xx—2,—4<x< -2
x+3)3+1,x< -2 ’ -
f(x)={g|x| )2 9y <3 f(x)={—x*+4,-2<x<2
’ - x—22<x<4
Work for finding zeros is shown. Circle the zeros |y-intercept Work for finding zeros is shown. Circle the zeros and | y-intercept
and cross out any that are restricted from the (show work): cross out any that are restricted from the domain. (show work):
d°m(;'”'( ¢ o -2 0=-x-2  0=-x"+4 0=%-2
= +.3 + | = ; X = - - _
A ( X =2 ET K=
[~ =N x+3) 2 =2|x| x=1%2
x=-4 /= =2 X=-
< N
X=1 xX=-l
Evaluate: Graph: Evaluate: Graph:
5 5
f(=3)= 4 F(—4) = 4
3 3
2 2
f(=2) = ; f(=3) = )
f(2) = P A2 123405 f() = S54-3-2-11 12345
-2 -2
f3) = -3 fQ3)= -3
-4 -4
-5 -5
Domain: Range: Domain: Range:
Extrema: Inc/Dec/Constant: Extrema: Inc/Dec/Constant:
Continuity: End Behavior: Continuity: End Behavior:
X > —00,y = x - —4,y->
x—-3,y- x—->4,y->




NAME: PERIOD: Round 2 NAME: PERIOD: Round 2
E-Graph F-Graph
4 Evaluate: 4 Evaluate:
3 3
—4) = -3) =
/2 f=4) 5 f(=3)
1 1
f(-3) = \ | / f(-1) =
-4 -3 52 - 1 1 2 3 4 A 3 0 _1_1 1
; f=1= f( =
- -2
—3
x £(3) = -3 F(2) =
-4 -4
Zeros: y-intercept: Zeros: y-intercept:
Domain: Range: Domain: Range:
Extrema: Inc/Dec/Constant: Extrema: Inc/Dec/Constant:
Continuity: End Behavior: Continuity: End Behavior:
X > —0,y > X —> —00,y >
X > 0,y = X — 00,y —
Equation: Equation:
_ X y '
flx) =3 _x - flx) =




NAME: PERIOD: Round 2 NAME: PERIOD: Round 2
E-Equation F-Equation
2x +4,x < -1 2lx+3]—2,x < -1
fx)={-2vx+1,-1<x<3 fG) =y 2,-1<x<1
—4,x > 3 —2x,x=1
Work for finding zeros is shown. Circle the zeros |y-intercept Work for finding zeros is shown. Circle the zeros and | y-intercept
and cross out any that are restricted from the (show work): cross out any that are restricted from the domain. (show work):
domain. =~
O=£[X+3]-l 0=4& _% __%5
0:3,“4 {_j—-'R.h:H O‘-‘*"f 9\73[1"'3( False, so
2 <o False, s0 Nl ol Kol no Zeros xX=0
-{=2x 2 2 no zeroS s 2 l for the
2 K (O)=[x+T) for the |=Jxt3 constant

A=-2 0= x+I Constant

e 'S .
|=%+3 -[=x+3 5&‘0;&(\&4-(&&

X=-I jub-]:unctiav‘l x=-&  X=-{
Evaluate: Graph: Evaluate: Graph:
5 5
f(=4) = : f(=3) = 4
3 3
2 2
f(=3)= 1 f(=1) = 1
54321 12345 5-4-3-2-11 12345
f(-1) = N (1) = N
-3 -3
f3) = -4 f(2)= 4
-5 -5
Domain: Range: Domain: Range:
Extrema: Inc/Dec/Constant: Extrema: Inc/Dec/Constant:
Continuity: End Behavior: Continuity: End Behavior:
X > —0,y > X —> —00,y >
X >0,y = X — 00,y >




